Math 200 - Test 4 Nov 24 2015

Question 1: Find the volume of the largest rectangular box in the first octant having three faces on the
coordinate planes and one vertex on the plane x 4+ 2y + 3z = 6. You may use any method you like, but be sure
to justify that your solution is indeed the maximum.-
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Question 2: Compute’// xye* dA where R =1[0,2] x [0,1] .
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Question 4: Compute / / cos (x? +y? + 1) dydx (polar coordinates may help here).
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Question 5: Find the volume of the region that lies above the cone z = 1/x% 4 y? and below the sphere '
X2+ y? 4+ 22 =1
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Question 6: Compute/// Y dV where E={(x,y,z) |0<y <1, y<x<1, 0<z< xy}.
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Question 7: Suppose E is the solid region bounded by the surfaces y* + 72 =0, x = —2 and x = 2. Express

// f(x,y.z)dV as an iterated integral in the order dzdy dx.
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